NRSG 795 Module 8: Relative Risk/Odds Ratios

Learning Activity Answers
	
	Myocardial infarction

	
	Yes
	No 

	Placebo (At risk –“exposed”)
	239
	10795



	Aspirin
	139
	10898


1. What is the absolute risk of an MI among those who did not take aspirin?
ARE = (239) / (239+10795) = 0.0217

2. What is the absolute risk of an MI among those who took aspirin?
ARNE = (139) / (139+10898) = 0.0126

3. What is the absolute MI risk reduction of using aspirin?
ARR = (ARE - ARNE) = (0.02 – 0.01) = 0.009
4. What is the relative risk of an MI?
RR = (ARE / ARNE) = (0.0217/0.0126) = 1.72
5. What is the odds of an MI among those who did not take aspirin?
OddSE = (239)/(10795) = 0.0221
6. What is the odds of an MI among those who took aspirin?
OddSNE = (139)/(10898) = 0.0128
7. What is the odds ratio?
OR = (OddSE / OddSNE)= (0.02)/(0.01) = 1.73
8. What is the number needed to treat to avoid 1 MI?
Number Needed to Treat = 1 / ARR = 1/0.009 = 111
